F. C/IRCUIT
— rrITNESS
POWER CAGE

AMZ-600CG

\

2 o0 00 0o o o8/ X\

N

g _I8%/0 0 0 o\ O O 0 O O O\
- X

IMPORTANT: Please read the Important Safety Notice and Assembly Information in
the Owner’s manual before assembling this product.

Assembly Manual
190717




9

o &0 0 0 00 080 000 00 00 0 O 0

1 (9)x1 (10 1 A1) x1

@x4 @XS @x2

©IMPEX INC. 1 WWWwW.marcypro.com



=
@

0¢ 60 8T AT 91 <1 %I €1 I IT oI 6 8 L 9 S ¥ & ¢ 1

0o 1 2 3 4 6789101112131415\
HH‘HH|HHHH‘HHHH‘HH‘HH|HH HII‘HHHH|HIIHH‘H \

O©IMPEX INC. 2 WWW.marcypro.com



M10 x 2%"

4

M10

¢3/4”

4

QII@IIJ/ A

13

R
\y

e o
O 0O 0O QO © 9 Q9 0O Q0 0O QO Q0 QO 0O Q9 Q0 90O 9O O -

- S \\W NN

1
AN

®--0-

AN
N

www.marcypro.com

O©IMPEX INC.



M10 x 2%"

M10
q);%n

4
4
8

D}

. o
W\ e O O O QO QO Q0 QO ©Q 0 Q0 9O 90 0 2 29(

3L

“e-®

0--©

\ ) O © O 0 0 © 0 0 0 0 o oJ(
YV

AN

AN

www.marcypro.com

O©IMPEX INC.



M10 x 2%4"

4

M10
¢%”

o~ N
(q\} (qV}
o
A vl
A = .
DY e O O O O O O O O © O O O O O O O O O O - V
$I|®Iw/,\
— N
N N ™
h w A
[ce)
@0 =
0/ .D/% g = |//
\ 3 O O O O O O O O O O O O O O O O O O O - V / -Up-ﬂ
W
[
— (Q]
N N

www.marcypro.com

O©IMPEX INC.



N
N
X
o o ¥
= = ©
+ < ©

s D)
e O O O 9O QO QO 9 QO 0O 20 Q0 9 90 2 2(

“o-@

N
=
x o~ o
< —
O--0
O\ Y
)\ O O O 0O 9O 0 9 0 0 9o o 2(
YV ie-0
o N o™
(V] N ~— N —
N N

www.marcypro.com

O©IMPEX INC.



M10 x 3"
M10

12

12
24

(Ob 7%

O O O O O O 9 9O 9 O O 0O 0O O O 9 9O O O

www.marcypro.com

O©IMPEX INC.



M10 x 3"

4

M10

Ob7%

8

www.marcypro.com

O©IMPEX INC.



-— X
/l:\u.\.\.\.\.n.\..I\.\.\.\i\.\..l\.\.\‘.‘\.‘h
hY hY

11

www.marcypro.com

O©IMPEX INC.



10 WwWw.marcypro.com

O©IMPEX INC.



IMPEX® INC.

2801 S. Towne Ave, Pomona, CA 91766
Tel: (800) 999-8899 Fax: (626) 961-9966
www.marcypro.com
support@impex-fitness.com

O©IMPEX INC.

11

www.marcypro.com



http://www.impex-fitness.com/

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

